Uttar Pradesh Governmen
t declar
pudget 2021-22 to provide tableidf:)r;

student unde i
e r which of the following

147.

@ Chief Minister Abhyudaya Yojna
(b) Chicf Minister Rozgar Yojna
A< Chief Minister Balseva Yojna
_ (d) Chief Minister Education Yojna

148. h;[latch Listt — I with List - Il and select
the correct answer using the cod i
below the lists. cces given

List - I List - II
(State) (Representation in
_ Rajya Sabha)
A. Rajasthan 1. 10 seats
B. Gujarat 2. 7 seats
C. Karnataka 3. 11 seats
D. Punjab 4, 12 seats
Codes :
A B C D
Jd& 1 3 4 2
m 2 3 4 1
(d) 1 2 3 4
4 3 1 2

e

149. With reference to ‘birth rate’ which of the
following statement(s) is/are correct ?

1. Urbanization helps in reducing the
birth rate.
2. High literacy rate is directly related
to low birth rate.
Select the correct answer using the codes
given below.
Codes :
(a) Only 1
b(;zf Both 1 and 2
150. Which of the following Islands is NOT
located in the Caribbean Sea ?

(b) Montserrat
(d) Anguilla

(b) Only 2
(d) Neither 1 nor 2

(a) Grenada
(c) Madeira

AT R P T

SMRN-1 - 21

147, I W2W & wore 2021-22 # Ry A9 F
e it @ dade 2 A deon K TR 7

(a) Tt angEA s
(b) A Asrrre Ay
(c) T Arerdan A
(d) e fugn Ao
148.@-1aﬁ@-tlﬂg&mmmv®ﬁ
%ﬁﬁgwqcﬁnﬁmmwmi
et -1 e -1
[{4) ﬂmﬂmﬂgﬁﬁﬁm
A. TSR 1. 109
B. TR 2. 7HR
C. ®eH 3. 11 €8@
D. U 4, 127€R
He .
A B <€ D
@ 1 3 4 2
(b) 2 3 4 1
() 1 2 3 4
d) 4 3 1 2
149. m’%aﬂﬁﬁﬂ%ﬁﬁwﬁﬁﬁm-mf@
T 2/2 ?

1.=mwmahmasﬁﬁmil
2. St T < e S ¥ W

=Y ¢ |
3 fou T F2 ¥ W& IR I
e
(a) ¥ 1 (b) Fa 2
(c) 13 23+ @ IR 1aIq2

150. e & - AR AR e
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144, Given below are two statements one is
labelled as Assertion (A) and other as

Reason (R) :
Auertlt(m) (A) : The government face;

a tough time tackling the bott

inflation. _ . .
Reason (R) : The situation 18 due to

deficiencies existing in the economy

_,(a‘),’%eo'th (A) and (R) are true and (R) is

145.

— the correct answer using the codes given

146.

List - I List - II
(Volcanic (Country)
Mountains)
A. Mount Rainier 1. Italy
B. Mount Etna 2. Mexico
C. Mount Pericutine 3. Philippines
D. Mount Apo 4. U.S.A.
Codes :
A B C D
@4 2 1 3
b4 1 2 3
.dey2 1 4 3
d4 3 2 1

C

Codes :

A B C D
@A 3 4 1 2
b) 4 2 1 3
¢ 2 3 4 1
@ 1 2 3 4

Match List — I with List - II and select
the correct answer using the codes given
below the lists.

lenec

such as supply bottleneck and inefficient

distribution.
Select the correct answer from the codes

nven below.

correct explanation of (A) _
(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A
(c) (A) is true, but (R) is false
(d) (A) is false, but (R) is true

Match List — I with List — II and select

below the lists.

List - I List - II
(Text) (Author)
A. Ragamala 1. Somanath

B. Rasa Kaumudi 2. Venkatraman

C. Raga Vibodh = 3. Pundrik Vitthal

D. Chaturdandi 4. Sri Kantha
Prakashika

144, Fra & T L e R,
3R g F F
Fiftrener (A) : TP
& forg wfea @l 1

R) : g% feufd

aYgr A&H

R)

SMRN-] . 2

ﬁqﬁ%@ﬁmﬁmﬂ
Fg T E -
a&}a:asagamﬁﬁaﬁqz
srrfmm;';?;él
of et
?mra’ié’smﬂmﬁ

13 Ry e & W S F T ET |

E;A)sﬁt (R)#ﬁm?m(R), (A)
gél = H

(b) (A) 3T (R
g ATAT

) ot & &, 7 (R), (A)3
T ohtaT B

(©) (&) & 2, P (R) T 2
(d) (A) e 2, fohgd (R) §F J

145, Gt — [ gt — 11 & gafera e a2 gfs
?ﬁﬁqg@ﬂaﬁmﬂﬂ‘fﬁml
et - 1 et - I
(o) (rafa)
A. T 1. Q™
B. T HIYgl 2. dHeTH
C. T fasty 3. gusiis fagaa
D. Sq¢vEt Wbl 4. # %93
F:
A B C D
@ 3 4 1 2
b 4 2 1 3
© 2 3 4 1
@ 1. 2 3 4
146. Tt - 1 = g=ht - 11 & gifera e aur gin
et - 1 Tt - 11
(SaTeTgEt ud) W)
A. HIZWE I 1. T=ht
B. T3 T 2. AfFgen!
C. ARve YA 3. Frefureg
D. H13v uq 4
. - LuE.x,
Fe :
A B C D
@4 2 1 3
b)4 1 2 3
[©°2  1°¢4 33
d4 3 2 1
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40. Given below are two stateme . {0

|abelled as Assertion (A) em(li~l l(s,“;),_l:t ;:

Reason (R)

Assertion (A) : Teesta river was earlier a

tributary of Ganga now it is a tributary

of Brahmaputra.

Reason (R) : River capturing is a major

feature of Himalayan rivers,

Select the correct answer using the codes

given below.

Codes :

Both (A) and (R) are true and (R) is

correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(€) (A) is truS but (R) is false
_ar) is false, but (R) is true

(@)

141. The primary duty of the Finance
Commission of India is
o give the recommendations on
distribution of tax revenue between
the Union and States
(b) To prepare the Union Annual
Budget
(c) To advise the President on financial
matters
To allocate funds to various
Ministries/Departments of the
Union and State Governments

(d)

Which one of the following Acts of
British India strengthened the Viceroy’s
authority over his executive council by
substituting ‘portfolio’ or ‘departmental’
system for corporate functioning ?
daj/l‘ndian Council Act, 1861

(b) Government of India Act, 1858

(c) Indian Council Act, 1892

(d) Indian Council Act, 1909

142.

143. Fruits stored in a cold chamber exhibit
longer storage life, because ;

(a) Exposure to sunlight is prevented

(b) Concentration of CO, in environment
is increased

_lef Rate of respiration is decreased
(d) There is an increase in humidity

SMRN-1 - 21

140. 2 2 e fag 7 8, R & o ) firene (A)
3 @ 7w (R) Fo T Y
stfreer (A) ; forean 71 T€Q T A T T
o} arroret a8 Frarga ) wer T Y |
%W (R) . 78 arE fewrera ) Afedt W T®

THE R |
A g g e @ W I A AR |

e :

(@) (A) 3 (R) 2Fi1 we & 3P (R), (4) B ¥
ST Ll 8

(b) (A) 3K (R) 2t wear &, g (R), (A) A
& =rE ¢ w8

(c) (A)Hﬂ%,ﬁﬁ-‘g(R)W%

(d) (A) Terd B, R (R) g4

T 3 R s 1 Wrufe Wi @

(a)a'aaﬂrumﬁ%mmm%ﬁm
¥ Rrwrfe &

(b) Tefra Tfife WO AAR FTA

(c)ugtrﬁ!ahﬁ?ﬁnmﬁwmim

(d)matmuwﬁ%ﬁﬁaﬁmﬁm'ﬁ
¥ fore Fiftedl = fafaem &

ﬁmm%mﬁamma
mmﬁdﬂm%mmﬁm'mﬁwﬂu'
Tef g A & FEeR e W
it i 3 st w@ wer R ?

(o) vy fteg i, 1861
(b)wmaﬁﬁm, 1858

(c) vty ftwe Jrfufam, 1892
(dmr{?hwwmmﬁw, 1909
xﬁamﬁwmﬁmw?ﬁtﬂ,
il

(a)@%mwa‘vﬁwﬂmt

(b) ST # wEEt CO, Wisw

(c) T@EA T T B

(d) T 1 wG"

141.

142.

143.
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135, Who amon

g the following never presided
a Session

of Indian National Congress ?
(@) Lala Lajpat Raj

Bal Gangadhar Tilak

(c) Gopal Krishna Gokhale
(d) Subhash Chandra Bose

136. Which of the following Bills can NOT be
first introduced in Rajya Sabha ?

(a) Ordinary Bill

(b) Constitutional Amendment Bi]l
(c) State Re-organisation Bjj|

A Money Bill

137. Consider the following and arrange these
in chronological order :

I. Golak Nath Case

I1. Keshawanand Bharti Case

[I. 24t Constitution Ame

ndment Act
IV. 4

214 Constitution Amendment Act

Select the correct answer from the codes
given below.

SMRN-LQI-
135.ﬁnﬁ1f@aﬁﬂ%ﬁw‘ﬁmﬁ%ﬁ
aﬁfah—;ﬁmaﬂhémﬁmmmw*t?
(a) STeT ASTIA T
(b) et e e
(c)mwm
(d) gome = F

136. freifirem # & 2 -2 frtreres o
ST gt e < w7
(a) remor fyeers _
(b) wifaenfres deitem fada
(c) T3 gt Fadrrs
(d) &= ferdrgeh

137.ﬁm%mmﬁanﬁ%rﬁmmﬂﬁ%
T iR fifv
L. MY a1e
I1. FYEF= IRet are
111. 24 3f wfyum sy sfufag
IV. 42 5 Gfaum seiue wfufay

Ty

T fow e & vt 3o 1 w9 o |
Codes : e
2L 00 10, 1V (b) I, 11, 111, IV (a) I 0, 11, IV (b) L, IL, III, IV
(c) IIL, 1, 11, TV (d) I, I, IV, 11 (c) IIL, I, IT, IV (d) I, I, IV, IT
138. The Nobel Peace Prize, 2020 was awarded 138. Frae wify IR, 2020 Fr=fefea § @ R
to which of the following organisations ? TR Y Y fra T 27
qa')/World Food Programme (a) fave @ FRIHY
(b) United Nations Development Programme (b) ¥gF Teg g sk
(c) World Health Organisation (c) Tava ey e
(d) World Bank (d) fava &=
139 Which of the following newspapers | 139. freafafea FTI'I'ﬂRqa‘f TR e yfafesq &
/:Jvon the ‘Pulitzer PI'iZC, 2021’ in the aa-[ M ﬁ mm, 2021| Gﬂma 2
prestigious public service category ? — .
tJ al
ooy e
0
/‘b::::e Washi gton Post (€3 e
(c e Washin
d) <A e
(d) New York Post ()
C -26-
a— W i . Y



ry 2021, Ngozi Okonjo Iweala
ted as the first woman Director
Wworld Trade Organisation.
to which of the following

_[n Februa
was appoin
General of
She belongs
countries ?

(a) Nigeria (b) South Africa
(c) Kenya (d) Ethiopia

32 Match List — I with List — II and select
" the correct answer using the codes given

pelow the lists.
List - I
(State of India)
A. Tamil Nadu

List - II
(Highest Peak)

. Dhupgarh Peak
. Saramati Peak

1
B. Rajasthan 2 :
' Nagaland 3. Gurushikhar
(5 08 Peak
pD. Madhya Pradesh 4. Dodda Betta
Peak
Codes :
A B C D
m 1 4 3 2
(c) 4 2 3 1
g 4 3 2 1

Given below are two statements, one is

labelled as Assertion (A) and other as

Reason (R) :

Assertion (A) : Human body synthesises

all the vitamins required by it.

Reason (R) : Vitamins are essential for

proper growth of the body.

Select the correct answer using the codes

given below.

Codes :

\—af Both (A) and (R) are true.and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

133.

34. Which of the following organization has
launched ‘The Great Reset’ Initiatives for
the recovery of global economy during
the Post Covid - 19 phase ?

‘;;) World Economic Forum
) World Bank

(c) OECD

(d) UNCTAD

mammmﬁam%wﬁﬁﬂﬁ

?:wtlmmﬁﬂ%ﬂ!ﬂﬁﬁmﬂ‘i
7

(a) g (b) aftaor TR

(c) e (d)

132, gt - 1R g - 11 2 iR o e g
¥ 4 Ry T g @ 7 I H 7 FRAC |
q -1 -1
(T & Troa) (R St 1Y)
A. Aty 1. yug A
B. TNed™ 0. g S
C. TS 3. TefirEt =91
D. 7%q ¥ 4, o8] A A

w2

A B C D
(a) 3 2 1 4
) 1 4 3 2
© 4 2 3 1
d 4 3 2 1

133, 1 Q wom R &, RFd ¥ w F AR (A)
30 R F FR (R) FE R :
mﬁmm:uﬂaw&tmﬁﬁﬁmmﬁ
Frerfiet 1 dveiwor = AAT R |
m(m:mﬂtﬁsﬁaﬁam%mm
Ffard g1a € |
Y RA T F2 A T I T A |

e :

(@) (A) 3R (R) 3 = & 3R (R), (A) B T
STETT FT &

(b) (A) 3 (R) 31 wd &, B (R), (&) H
& e TE A

() (A) 1 B, T g (R) TTerd R

(d) (A) T &, e (R) ¥ R

134, fr=r # ¥ e G TR WIS -19 % YW
2 it A rderER & I ¥ 3 ¥ G
T Y oy e w7
(a) farem anftiw 7=
(b) favm &% '

CEARIEE
(d) Fwers (L. HAH.)



125 The
' > Symbo] ¢ -
Which of tl?e fﬁﬁ?‘,’i‘ﬁﬁc 18 related to

(@) Goods of best quality

afe goods for environment
(c) Exported 8oods
(d) Importeq goods

126, Whj

mg_lgli_among the following is NOT a

@) -:l\ actors of economic rowth ?
CCumulation of capital and

reforms in technology

—H:‘(C)) o ange in population
IVISion of labour in specialised activities
echnocrats and Bureaucrats

127. Who amon i
g the following person said
cf)or the Fundamenta] Rightsl?‘a pled Sf:aio
Ur beople and a pact with the civi ized

u‘;ofld" ?
: Pt. Jawahar Lg] Nehru

(b) Dr. Bhim Rao Ambedkan }—
(c) Dr. Rajendra Prasad
(d) Dr. S. Radha Krishnan

128. According to ‘Global Peace Index, 2021’
which o the following is the most
peaceful region in the world ?

(a) Africa . Europe
(c) Australia (d) South America

With reference to the Satavahana Rulers

which of the following statement/s is/are

true ?

1. The Satavahana Kings were the
nurtures of Prakrit language.

2. Public aspect of the arts got
more encouragement during the
Satavahana period.

Select the correct answer using the codes

given below.
Codes :
—{6) Both 1 and 2
(d) Neither 1 nor 2

129.

(a) Only 1
(c) Only 2

The National Disaster Management
Division in India is the nodal division
in the Ministry of Home Affairs for
disaster management. Who is the
Ex-officio Chairman of the National
Disaster Mana]tégrr_lent Autherity ?
a) The Prime Minister

he Home Mil\xzisgext'
c) The Defence Minister
(d The Health and Family W

130.

C].fﬂ.l" Miﬂiﬂter

-24- |

LB o

SMRy,,

?

125, ¥ (ECOMARC) weft M‘fm
e wrafra & 7 }
(b) wafeTor % fore gefa amft &
(c) Praffra armft @
(d) rnfaa grft @

126. Frefifan & & #-a1 sfife R 5
FREHAEHRT A
(2) 95 1 e o e g |
(b)mﬁm , |
(o) P et /v 3 0 ey
(d) Terftenferg T ehtas ™y

127. Fefifes % & firm =afaa 3 0@ ity «
et 3 g % S aun 9% o g
T e T o1 7 |
() 9T wraTeR et Y6 |
(b) . sfiwtra g |
(c) &F. Toiz yER
(d) 3. T8. TuTFH

128. ‘ffye wifa gaw, 2021’%3@“%&‘
% & fova 1 9@ wifoq! & PRy ;|
(@) 3T (b) |
@ SRR (@) R

129. HTaTeR Wt % ww F P Fet b
FH-T1/Q FUT T B/F 7 |
1. WaTE RA WPA WIS & droeh & |
2. YIEIEA 11 H Fetl F A6 94 H 3w

|
|

SreaTE firem | |
e fow 7T gz F wt I H g |
%
(a) ¥ (b) 1 3f 2 gnt
(c) et 2 (d) 3@ 178 2

130. YA # A9 WaYA F foIw Usfiy anmger v
feefisr 7 warer & w Aew fedftom & |
HIYGT FaH NI 7 92 veaey HF 2 ?7
(a)SI'lTFITf'ﬁ
(b) TEft
(c) T
(d) ¥ T R e o

T



C

121.

123.

124,

ji

120.

Given below are two statement i
e @ ae Assertion (A) and other s
Reason (R) : .
Assertion (A) : The President of Indi
determines the qualifications or“{iﬁi
Chairman and Members of the Finance
Commission.

Reason (R) : Chairman and member
appointed by the President of Indie.a. e

Select the correct answer using the codes
given below.

Codes :
(a) Both (A) and (R) are true and (R) is
correct explanation of (A)
(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)
(o) (A) is true, but (R) is false
A (A) is false, but (R) is true

«Uttar Pradesh Swami Vivekanand

SMRN-1 - 21

120, 1 3t s fe o &, it & us A AR (A)

v gE ) F (R) T R
arftrmer (A) : farr s % s @ wEd
reranatt o1 Rt v @1 Tgafa e & |
=W (R) : A9E a e A Py ad %
mﬁmﬁ?ﬁtl

Mg 2 ) werEar ¥ wE IW H T
Hifare |

L T

(@) (A) 3l (R) i wea & o (R), (A) R EE
TS Ll

(b) (A) 2 (R) 31 &< §, R), (A) @
o) )ﬂm % (R), ()

(©) (A) T R, forg (R) Tera ®

(d) (A) T &, foRg (R) T @

121. ‘I Ry @i fem= Wt e am

Etihasik Paryatan Yatra Yojna 2021’ was
introduced by the U.P. Government for
which of the following people for religious

travel ?
Elderly
(c) Widows

_€onsider the facts given below :
1. Sukumar Sen was the first Chief
Election Commissioner of India.
2. Rama Devi was the first woman
Chief Election Commissioner of
India.
Choose the correct answer from the
codes given below.
Codes : o i
(a) Only 1 is correct
(b) Only 2 is correct
(c) Both 1 and 2 are correciL~
(d) Both 1 and 2 are incorrect

In which of the following years, the

(b) Women
(d) Labourers

the Government of India ?
(a) 1982 (b) 198
(c) 1990 (d) 1992

permanent and o
stations in Antarctica ?

(a) Bharati and Arya

(b) Bharati and Dakshin Gangotri
(c) Bharati and Maitri

Environment (Protection) Act passed by

Which among the following are India’s
erational research

AT 20217 HY I T TEHR X Tififs AT
¥ fre e & @ Forw safaad & fag omos B

R ?
() TN % forg (b) wigenad F foag
(c) Freraati & f () wogdl & fere

122. = R e aeat W e df

1. vt 3 wore e et g gpm a2 |

Z. gﬁﬁ?ﬁwﬁwg@ﬁaﬁﬂ g T
1

Ry e e ¥ Wl I IR |

123. ﬁmﬁmi&%ﬁmaﬁmmmm
(qfeEor) arfrfram arfita foRn T ?
(a) 1982 (b) 1986
(c) 1990 (d) 1992

124, Pt # & HH-w Serdfe i WE
3fi 3@ g aREnte FEUH BRI B 1

_{dyDakshin Gangotri and Maitri

.23-




115. ‘Ringelmann scale’ is used to mcasure
density of

@”ﬁmoke

(b) Polluted water
(c) Fog
(d) Noise

116. PM VANI Yojna is related with
(a) Censorship in Print and Digital

edia
) Development of Lok Sangeet

—# Audio-Visual Release of Lok Sabha
(d) Availability of Wi-fi in Public places

7. Who among the following has been
appointed as first Women Treasury
Secretary in United States of America ?
(a) Lyoyd Austin

\.,fb‘f Janet Yellen
(c) Merrick Gardand

(d) Tullipan
118. Which of the following is NOT correctly
matched ?
(a) Acid present in — Acetic acid
vinegar
(b) Compound present — Calcium
in bones phosphate
—eySouring of milk - Nitric acid
(d) Acid present in - Hydrochloric
gastric juice acid

119. Who was the founder of the ‘Asiatic
Society of Bengal’ ?
(a) Jonathan Duncan
Jb¥Sir William Jones
(c) Warren Hastings
(d) William Bentinck

o £

115. ‘Piverim wher Wmmi#hl

116. &

117.

118.

119, *

-22-

e AT a2
(a) gl

(b) Fgfa

(c) IET

(d) &

?

yrrA aoft Ao 1 @y &

(a) Rie aur ffreer ifen F d=fim
(b) & Gifta & farg @

(c) S ¥ g7a-ed TR &

(d) W worell qt AT -HTE Y et 4

frerferfgn & & fraen GgF TT i §
mmm@ﬁﬁ%“ﬁﬁ%h

TR ?

(a) @R 3nffees
(b) S ¥
(c)ﬁﬁ'ﬂ?‘TR@E
(d) Sfer

ﬁt{%ﬁaaﬁﬁ#:r—maﬁg&ﬁmqﬂi?
(@) B o Sufg o - wHifes ang
(b) &R & Iuferm A — Hfoway

(c) 9 1 @1 B

FTEhe
- iafew I



108. Which one of
element of rur

(a) We-feeling
Territory

the followipg is NOT an
al community ?

(b) Cultural diversity
(d) Self-sufficiency

newable source of energy is

109. A non-r¢
(a) Solar energy Pt?troleum
(c) Wind energy (d) Biogas

«Fawaid ul Fawad’ is the
110-The bogfkthc conversations of Shaikh

Il;lci(;gguddin Auliya, it was compiled by

(a) Amir Hassan Sizzi
(b) Amir Khusro

() Ziauddin Barni
(d) Hasan Nizaml

the following was the
@gr?gi?élngr?gof the Firstg Finanoe
Commission of India ?
(a) Shri. Santhanam
(b) Shri. K. C. Neogy
(c) Dr. Raj Mannar
(d) Shri. A. K. Chanda

112. With reference to the electric potential,
which of the following statements is/are

correct ? )
1. It is a scalar quantity.
2. It is a vector quantity.

Select the correct answer using the codes

given below.
u&ﬂ)’nly 2

Codes :
(a) Only 1
(d) Neither 1 nor 2

(c) Both 1 and 2

113. Which one of the following books written
by Noble Laureate Amartya Sen and
published in July, 2021 ?

(a) Development and Freedom
(b) The Argumentative Indian
(c) Home in the World
(d) The Idea of Justice

114, Which one of the following rivers is NOT
the part of Indian Ganga river basin ?

.,(a‘r Punpun river (b) Ajoy river

SMRN-1 - 21
108, frefrfgs % @ #w-w mflo EE w1 T

R

(a) B9 i WTE (b) wiegfve

(?:)gi'l (d) Fenfien
109, U ITENHa il 1w B

(a) e S (b) Ygferam

(c) =g S (d) sEhE

110. mmgammgmmﬂuﬁwgﬁﬂm
1 araa +1 frawo }, v g fean a1

(a) 3nfit ga= fswht 3
(b) arfix gadt 3

(c) Rrared= =h 3
(d) &= femht 3

111. Pr=fifes § @ 99 wra & vuw fom s@m +&
G AqT ?

(a) oft, gumw

(b) . &. &, Pt

(c) B1. TS HER

(d) =, T &. 5

112, faga fe & wod # frafafea st d &
H-T/A TR R/E 7
1. 9% U AT TRIR |
2. 98 T qiew TR 2 |
A oy T Fe A Tt I F T AT |
T2
(a) el (b) ¥aa 2
(c) 1 3 2 gt d)IN1IA2

113, Neet gEwR fa s ¥ g fofem
frffed 3§ & FR-@ TS g, 2021 A
wehiivTa &8 ot 7
(a)%aaqﬁzmsﬁsn
(b) 7 sm{HfeS sfoea
(c) BW F g aws
(d) T Imgfea At wfeew

114. frafeRee # @ FR-@ @& 7@ e T
Rm i R 7

(a) TTGH T (b) I T§

(c) Jalangi river  (d) Jonk river

DESRIE (d) I 7§

-21-



Exercise Cutlass Express,
(a) INS Vikrant
(b) INS Magar

(c) INS Talwar
(d) INS vikramaditya

i ' rtici
(1:)4 Which Indian Naval Ship pg b5

IQS Match Lis -
<~ the correct answer using

below the lists.

List - I
(Mineral
Exploration
Agencies)

A. Oil and Natural
Gas Commission

B. Mineral
Exploration
Corporation Ltd.

C. National Mineral 3. Nagpur

Development

Corporation
D. National

Aluminium

Company Limited
Codes :

A B C D
@4 2 3 1
()1 2 4 3
¢4 3 2 1
d2 3 4 1

List - II
2. Hyderabad

4. New Delhi

106.
Commission may be removed by

(a) The Governor on the basis of
impeachment in Vidhan Sabha

(b) The Governor, after the enquiry
conducted by the Supreme Court

(c) The President, after the enquiry
conducted by the Supreme Court

The Governor, after the enquiry
conducted by the High Court

@Aocording to the Union Budget 2021 - 22,

Finance Minister proposed a new

levy Agriculture Infrastructure and
Development Cess. This cess will be
levied on how many products ?

(a) 12 (b) 20

(c) 25 (e 29

¢ — I with List — II and sclect
the codes given

(Headquarterl)

1. Bhubaneswar

member of State Public Service

SMRY,

# e
i, 2021 =1
patedin[104'%ﬂmmm?
. q.@@. T
() g
(b) I T
(c) m-“'w'ﬁﬁmﬁ?“
(d) 8.7 T8 R h
! ﬂ'”;' [
- ﬁqm?@mwﬂﬂ;ﬁ_,
( @ﬁ;,,, (F=Tn
arfereToT )
A.%HWW .
7T
B@ﬁs{ a rrﬂ'lTW 2. m
fafiee
c. asga afst frd I
i 7 freeh
D. T T ki
g fafies
i A B CD
(a) 4 2 3 1
b)1 2 4 3
cg4 3 2 1
d2 3 4 1
106. TG @Y AT ATENT F TGl €T T
T &
(a) Tram @ F wETfiRT & SATHR T T
g
(b) =AW AT st ST & G¥ATG TSIATEA

EUY
(c) S=aH =ATATAE Y AT F qvETg UL 3

(d) I=3 =TATeE H ST F YT TSI 7

107. Geftg 9912 2021 - 22 ¥ IJFER fig w3«
31 W& fawme 89 & 9 @ w397 98¢ v 1
fora € | @& *R fraa Iearet WX gy S 7

(a) 12 (b) 20

(c) 25 (d) 29
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99. What is the theme of Wor

Day, 2021 ? U Youth Siig | g fava PMRN-L -1
S | S —
o Kooy | By bt
Pandemic S Post (c) gm frye vz S ity

100. {xﬁ t};elfon_textstoi; India.n/history which of 1
e following statement /s ig /. 00, Yty T
regarding Vaikom Satyagrat{aa r:?e Correct 1 ¥ e ain HEITIR ¥ ey

1. It was a satyagraha agaj Hyai
untouchability and cags?:nsm i3 /A o /% -

discrimination. 1. 75 HEGTa I a9 % Pz
2. Mahatma Gandhi participateq i T deamg oy |

this Satyagraha. 2. WETeRT T 3 - ,
Select the correct answer using the coge - HATIR A Ww1 Ry oy |
given below. s ﬁam?“mwmmw,
Codes : %2
(a) 1 only (b) 2 only a) 3

t_(-c‘)/ Both 1 and 2  (d) Neither ] nor 2 @) (b) %aa 2

(€) 1 3k 2 3 dIF13d,

101. : of the followi i j
¢1 Which one ¢ lollowing is NOT 101.%1‘:&#—141%@%;339

correctly matched ?

(Ruler) (State) () (
(a) Rana Hamir — Mewar G T e 1Y)
(b) Rana Chunda - Marwar - o
(c) Malik Raja Farooqi - Khandesh (b) T Fozr - T
(d) Malik Sarwar — Malwa (c) wfersh Trom wrehy - wRy
Khwaja Jahan

CURISERICIE - - R0 J—

102 /Headline inflation refers to the change | 102. s Erehift Jwh
in value of all goods on the basket. Ogn A wh g F e A

which basis is the headline inflation i Heffa et ? I?ﬁﬁiﬂg@ﬁﬁ! Al

measured ? Wmmmmm%?
Wholesale Price Index (a) o T G

(b) Consumer Price Index for Industrial .
Wesrlees: (b) 3Nenfirs il Iawiam T GEH

(c) Combined Consumer Price Index (c) TTYfeh IR o d G

(d) Urban Consumer Price Index (d) el It g gEew

103. Which of the following State has the | 103. 2011 %} TVFT % AR RFe T 1 Fe&AT

lowest density of population as per the e 999 5 o1 ?

Census of 2011 ? '

(a) Himachal Pradesh ) Tt e

(b) RS TN

(b) Arunachal Pradesh (c) et e
(c) West Bengal | (d) firsim
\_(9) Mizoram

C -19-
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94,

95.

Who among the following had performed
the world’s first heart transplant ?

Dr, Venugopal
(b) William Harvey

(c) Christian Bernard
(d) William Betrick

Consider the following events and arrange
them into chronological order :

IV. Dandj March

Select the correct answer using the codes
given below,

Codes ;

"I, 11§ and 1v

96.

(b) L, I, I and 1v
(€) IV, 111, 11 and |
d) 1, 1v, IT'and 111

Which of the following labour related

Acts have been amalgamated into the
‘Code on Wages, 2019’ ?

. Minimum Wages Act

II. Payment of Bonus Act
III. The Contract Labour Act
IV. Equal Remuneration Act

Select the correct answer using the codes
given below.

Codes :

(@) I and II only
(b) I and III only
(c) I, I and IV only

T, 11, Il and IV

JFr2005
98.

In which year P.C. Hota Commjttee on
Civil Services Reforms was constituted ?

(a) 2003 (b) 2004
\(d)}-2006

As per the Census, 2011.estimates,
which one of the following is the most
populous State in India ?

(a) Bihar (b) Madhya Pradesh

(c) Maharashtra j,dd/ Uttar Pradesh

94,

95.

96.

Q.

98.

sM*RN.L
fova 1 vzen geg e ﬁqﬂ.h

o ? /
(a) .
(b) faferm 71
(c) Bhfeer wate
(d) feforam &fye

frffes wematt w Rem
FIETHATTAR Srafedd I :
I. ey arfirforgm

I1. 9%% fé

II1. |59 sty =1 waA

IV. Tt g
ﬁmmﬁﬁﬂﬂmﬂa‘ﬁ%|
EE?.‘:

(a) IIL, 11, T &7 [V

(b) I, I, 111 &< IV

(c) IV, III, II e I

(d) I, IV, II @e 111

ﬁnﬁﬁﬂq-ﬁmmmﬁuﬁﬁm
Hftd, 2019" % witfg far m 2

L. 3w awglt srfufam

II. 999 Yrae stfifram

111 wfeqy sm arfifvay

IV. ¥4 wiferfies sffan

A ™ 2 &t s B
E%ﬁmaﬂrn

(b) %t 11 3k 11

(o) % 1, I 3tk 1v

(d) I, I, 11 3k v

Riferer et 3 qum 3g . <, ey w7
o e fovarr gy o7 7

(a) 2003
(c) 2005

T

(b) 2004
(d) 2006

SFIIVAT, 2011 %aﬂmﬁ%aﬂmmﬁ,ﬁﬂ
ﬁﬂﬁq-m@ﬂﬁf&mﬁwmmm%?
(a) forem

(c) wET

(b) wey Ry
(d) IW w2y




90. Match List - 1 with Ligt - |

e ct answer usj and
elo‘igrt!ifc lists, o Mthe COdeaageiLeectg
List -1 List -
(B’O.phem’ u‘°°ltlo
A, Sm‘ullpal ] 1, Uttarakhn
B. Pachmarhi 2. eghaly and
C. Nandadevi 3. Madh_ya);)a
D. Nokrek 4. Odishg radesh
Codes :
A B C D
@ 4 3 2 1
JBr 4 3 1 2
) 1 3 4 2
d 3 4 1 2
Whi f the following i
@m:tlgﬁezl ? € 18 NOT correcyy
YAa) Hundru Waterfall — Subarnarekhg
River
(b) Chachai Waterfall - Bihad Riyer
(c) Dhuandhar -~ Narmada
Waterfall River
(d) Budha Ghagh - Kanchi River
Waterfall

92. Which of the following vitaming is
essential for normal vision ?

Jﬁ%{ Folic acid (b) Riboflavin

(c) Niacin ._gdf Retinoly/’

93. Match List — I with List — II and select
the correct answer using the codes given
below the lists.

List - 1 List - II
(Scheme) (Year of Launch)
A. Aam Aadmi 1..2021
Bima Yojna
B. P.M. Aatmanirbhar 2. 2016

Swasthya Bharat Yojna

C. Pradhan Mantri 3. 2007
Jan Aarogya Yojna
D. Pradhan Mantn 4, 2018

Suraksha Bima Yojna

Codes :

A B C D
(a) 1 2 3 4
8311

3 1
d 2 4 1 3

91.

B92.

93.

(b) TEEITRARA

(d) Y=t

R -IRgh-n3 T gh

%ﬁﬁqm@ﬁaﬁmﬁ@
et - 1 T -1
(v (ST )

A. AW et i Fen 1. 2021

B. 9l.wq. arenfini wey 2. 2016
W FISHT

C. U9 99 I AT 3. 2007

D. YuE guan € @ee 4. 2018

He:

A B C D
@ 1 2 3 4
k) 4 3 2 1
¢ 3 1 4 2
d 2 4 -1 3



84. In which State of India is the Har

/ Civilization site Mandj situated ?
(a) Gujarat Haryana

ajastha (d) Uttar Pradesh
85. Which Constitutj

appan

MRN-I _.
84, wﬁmmmm, I 3 gy ";
; _
(a) TSTCTE (b) #frmom
(c) TTeer (d) 3T ém

me
Program -16-

Htlon Amendment Act | 85, #9-3 whum A srfufem gm T
r%d;cc::ls t_glc voting age from 21 years to MY A 21 78 gz 18 76 Ry Y oy ?I
(a) 66" Amendment (2) 66 5t et
(b) 6274 Amendment (b) 62 =f G_‘i"":'
615t Amendment (c) 61 af gy
(d) 63™ Amendment (d) 63 af ganye
@ Which of the following is NOT correctly | 86. fmffad # § HH-w1 IW wd gifr
matched ? TR
Institute Location .
(8) International Centre  — Nairobi qE™ TRy
for Research on (a) =T e -aifaeh -t
Agro-Forestry FTGUH H
(b) Indian Institute of - Bhopal . Ty
Forest Management (b) ¥Tft 7 a=Y Heom -
(c) Central Agro-Forestry - Banda (c) P TF-afhr - &g
Research Institute I T ‘
(d) Tata Energy Research - New Delhi i : ‘
Institute (d) 21 Sl srgee seE - 7 Rl f
87. “Can you show me one free count 87. "HT AN g3 G ft wdw 2w fewn i §
where there are separate elcctoratesrg Hﬁ'lfﬁ'ﬂ?r{?! ? ... 30 Wﬁ#g |
ek : EEED 7 y g
= ’I‘hf: fBtntl_sh hﬁlefrrtx)e?lg 12 gone, but they Y B T § |
ave left mischief behind” . :
Who among the following said the above Frefofen & & Rt swtea s ) wfeem|
mentioned statement in the Constituent T FgE A FE o7 7
Assembly debates ? (a) TEIY Tl
(@) Somnath Lahiri (b) SETEwTS YgE
(b) Jawaharlal Nehru e T v
Sardar Vallabh Bhai Patel (c) Gﬁa@“
(d) N. G. Ranga (d) TS, ;‘T; g / N |
8. On the recommendation of which | 88. ﬁmi?ﬂl@ﬁ -q /ity ﬁl“ﬁlﬁ!h;
Commission/Committee, the Inter-state T NRd § iy 9fwg ) e 6 o
Council was set up in India ? (a) Gt amEm
(a) Punchhi Commission (b) TwER FRfY
(b) Rajmannar Committee (c) T3t afrfy
(c) Kothari Committee / ol |
(d) Sarkaria Commission (d) _ : ) :
Which among the following organisations | 89. fi=fufiaa § & ﬁ;fgm TS %m?m RN
released the World Population Report, faid, 2021 @ TR
20217 (a) =it 75 e
(a) International Monetary Fund (b) HIF T TAEEAT FY
(b) United Nations Popl._zlat'::{on Fund (c) e wamea T
c) World Health Organisation )
F United Nations Development (d) &g Tz forehrar rdshe




b

84. In which State of India is the Harappan
Civilization site Mandi situated 7
/ (&) Gujarat Haryana
ajastha (d) Uttar Pradesh

85. Which Constitution Amendment Act
reduced the voting age from 21 years to

(a) 66&; Amendment
(b) 62n Amendment
ey B1st Amendment
Amendment

86.) Which of the following is NOT correctly

matched ?
Institute Location
(&) International Centre - Nairobij
for Research on
Agro-Forestry
(b) Indian Institute of - Bhopal
Forest Management
(c) Central Agro-Forestry - Banda
Research Institute
(d) Tata Energy Research - New Delhi
Institute
87. “Can you show me one free count
where “there are Separate electorates
... The British e] i

apcment is gone, but they
have left mischief behind”.

Who among the following said the above
mentioned statement in the Constituent
Assembly debates ?

(a) Somnath Lahiri

(b) Jawaharlal Nehru
~<{ef"Sardar Vallabh Bhaj Patel

(d) N. G. Ranga

38. On the recommendation of which
Commission/ Committee, the Inter-state
Council was set up in India ?

(@) Punchhi Commission

(b) Rajmannar Committee

(c) Kothari Committee /
(d) Sarkaria Commission

9. Which among the following organisations
released the World Population Report,

20217

(a) International Monctary_F‘und
(b) United Nations Population Fund
(c) World Health Organisation
48 United Nations Development
Programme

SMRN,;
84. TET WHAT F1 TS AL, WG F ]
fRmd 7 hy \
(a) eI (b) wfTon
(c) Trererm (d) I wew

BH-§ wlum deivT s g |
Y 21 7§ § e 18 o famt oy 1§
(a) 66 af @M= |
(b) 62 af gemym
(c) 61 af HeMyA
(d) 63 af dnvA

ﬁqﬁrﬁaaﬁﬁﬂq—mgmuagﬂﬁa
e
s 3"‘@!&

qe =

(a) Iaifim vem-arfh - A

UM 5
(b) ¥TiE & Yoy HerH
(c) ¥ &g~

FIEYH HEH i
(d) T Jrif orgeiem weam - T R
“ : m .
e
I

85.

86.

87.

A & WEW F et o7 7
(a)ﬁnwmfgaﬁ%

(b) SETEEATA

(c) TER g9 WTE v

(d) .. Tn j
ot % @ $9-3 smim/afify < Rk
Wmﬁmw&qaﬁwwﬁné? i
() 981

(b) TSm=R wfiyfy

(c) PR wify

(d) ST AR
frferfiaa @ few e g
Wi, 2021 s fn 2 2
(a) =i 51 =iy

88.

T g

89.

(b) HYH T TG HIY
(c) Torva TRy HreH

(d) §ZFa T ferehrg wrdsem

-16-
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77. U tha fae 3 fee wrm g sErEd -0 - AT

77. At which place.did Raja Ranjit Singh set
up the Adalat—l—Alz';r{ b &
(a) Amritsar ahore (a) FTAET (b) =)
(¢c) Firozpur (d) Multan (c) fortiarge (d) ga?rr»!
: the formqtion of following Sta
78. En"é‘i.‘ﬂ‘;’nge o chronniogs  States | 78. ﬁqﬁrﬁgﬂﬁr@ * A W i%rim Hfor, a1 ¥8
1. Goa II. Telangana Illﬁlrnmlﬁﬂi | i rafera ‘E”?'q' .
[l Jharkhand V. Haryana - L 5‘? o
Select the correct answer from the codes ' IV
given below. ﬁhmgﬁmﬂaﬂmmwaﬁﬁq |
Codes : T
(@) 1, 1L ur, IV M I, I, 1I (@1, 1, 11, v (b) v, 1, 11, 11
(L, I, IV, I (d) v, 1L 1, 1I (@1 I, Iv, I (d) IV, UL L 0
@India climate qhang'; knowledge portal’ | 79. ‘gfoea FATEAC 5 At qéa % LI
was launched 1n which of the following 2020 ¥ Pr=fafea # @ fpm afg & e
~~ months of 2020 ? e
() November, 2020 (a) TR, 2020 &
(b) December, 2020 (b) femw=r, 2020 #
(c) September, 2020 (c) R, 2020 #
(d) October, 2020 (d) 3RS, 2020 ® .
80. Which among the following districts of | 80. 3o s o Frafatied i § F-a1 faen &%
Uttar Pradesh is smallest in terms of £ qu _ g BB ?
area ? )
&) Hamirpur (b) Hardoi (a) TR (b) T
(c) Hathras (d) Hapur (c) TT&H (d) T9s
81. Diffusion of light in the atmosphere takes | 81. TgUSE H N & TR HI ?
place due to o
(a) Carbon dioxide t(b')/Dust particles (a) TTE- TS (b) oS %7
(c) Helium (d) ‘Water vapours (c) Eiferm (d) & qT
82. Which of the following countries is NOT | 82. fr=fefem # A -1 W FA TR F T R
located on the bank of the Black Sea ? Raft?
_|a) Syria (b) Turkey () € (b) i
(c) Georgia (d) Bulgaria (c) S (d)
33. With reference to the radioactivity, 83. ¥ g # Preafafaa wut # A
which of the following statements is /are g/ wd /€ 7
correct ? 1. YRuffar T v o R |
1. Radioactivity is a nuclear property. 0. qftrERE far@ued F g W T
2. Hydrogen bomb is prepared on the T AR |
principle of nuclear fission. 43 e M T A 3 Tl IR T
Select the correct answer using the codes Hfm
given below." .
Codes : \/ Te:
(a) Only 1 (b) Only 2 (a) ha (b) e 2
(c) Both 1 and 2 (d) Neither 1 nor 2 (c) 1 3l 2 3 (d)AM1AR2
.15-
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o

eport of the Comptroller iry/

Auditor Gencral

(b) Consolidated Fund of India
Qfei/l)ublic Account of India
d) Contingency Fund of India

71. Nitrogen is NOT an essential constituents

~70. /Tht‘ Pllbh'(‘ Accounts Committee of Indian
&/ Parliament scrutinizes the

of
(a) Chlorophyl] (b) RNA
(c) DNA Carbohydrate

@hich of the following is the correct
>equence of the Islands of Indonesia from
est to East ?
(a) Java, Sumatra, Lombok, Balj
J8] Sumatra, Java, Bali, Lombok
Sumatra, Java, Lombok, Bali

(c
“fﬁ{ Bali, Sumatra, Java, Lombok

73,/ Which of the following types of glass can
cut off ultraviolet rays ?

(a) Soda glass

(b) Pyrex glass
(c) Jena glass
(d) Crookes glass

@ﬂer cutting cucumber if salt is added,
s then water comes out due to

(a) Active transport
Passive transport

(c) Osmosis

(d) Diffusion

75. Sugamya Bharat Abhiyan is associated
with

L,(z)/ Disabled Persons

(b) Child Health Care
(c) Women Empowerment
(d) Under Privileged People

76. Flyash pollution is caused by
(a) Oil refining
(b) Fertilizer industry

e Thermal power plant
(d) Mining

70, e dae ) e oran afifd Ty

71.

72,

73.

74.

75.

76.

-14-

SMRE.

(a) Freies @ TR T 5 HTTT
(b) maapiﬁ'aﬁfi:r
a@
(c) ¥ 3 <
(d) s 1 e S 1

b) . . T, 3
(a) mﬁ,ﬁ ol (
(©# @.0H (d) PEEEEEH

oS 3 1 a3 ofm A 7 Ry
adl b Praforfaa § @ AF-a12 7 ]
() ST, AT, THETH, ATl )
(b) AT, ST, refl, T
(c) AP, ST, s,
(d) =Teft, gaT, SET, diE

Refofed § & Fa F1 FH-91 THT Ty
fooi ol wre@ @ 7

(a) HIST T

(b) UTRTH Hid

(c)@ma;‘fg

(d) 5 i

GR * Frea A T el s 2, @ F
¥ fhaS Fror gt Freperar 2 2
(a)mqﬁaﬁ

(b) FifSre qfmsa

(c) TTrEr

(d) "R

T ¥R A wrafae @
(a) fe=am =afwmt &

(b) 9T Ry §

(c) TfeaT axfamewor &

(d) afera &vm &
FATSN SV B @

(a) a9 My @

(b) It JuMT &

(c) T ferga W @
(d) @ &




W

SMRN-1 - 21
63, hichm?&eat(é{\et;‘% following is NoT 63. AR
correc . -
o (Name of Player) !?!edal Won in ( L 2' w81 a4l gafoam T B 7
okyo Olympio Reretrdy a1 -mm) (Zrrm AT
. 2020) 2020 ¥ fafm
(a) P. V. Sindhu — Bronze Medal uTE)
Bajrang Punia - Silver Me dal/ () 9, Eﬂ fay -~ W U
Mirabai Chanu - Silver Medal (b) =& gfven e ihe
(d) Neeraj Chopra - Gold Medal () Mrmm§ =, - o uew
the foll AR -
on e fo i :
22 o the Oscar Award for thacpior | 64 2021 H sitwm srard wic 2 ¥ s frwe
<~ motion picture in 2021 for the movic TR A arefl fren “driredve” & fiam
uNomadand? mﬁiﬂﬁﬁ?ﬂﬁ%mm‘;
(a) Chloe Zhao () velve nah '
(b) Emerald Fennel (b) THIEE e
(c) Lee Issac Chung @ Fﬁ: e
(d) Thomas Vinterberg (d) g ﬁaﬂ‘:ﬁ
ich of the following i
08 ggt;g?l lake situated ot% :lslet}égsltazggssi 65. Pt # & wrw & el T2 o T 7
of India ? A e - R 7
(a) Pulicat \(—kx/ Chilka (a) Tefihe (b) T
(© Kuller/  (d) Kilivali © T Q) ot
66. Site of gaseous exchange in lungs is 66. $H! § N fTafrme = w2
(a) Tracheoles (b) Bronchioles (@) hrarea (b) sifres
(c) Pulmonary vein (d) Alveoli o (c) T BRRt (d) T
@ ‘Statue of Peace’ is situated in which | 67. ®= 3% ' Wra ¥ fre 7o § sEfa ? ?
Stgte of India ?
% Madhya Pradesh-\p/ (a) 7eA SeH
(b) Rajasthan (b) TS
ey Gujarat (c) T
(d) Himachal Pradesh (d) Temmaret wem
hich o?f the following particles has zero | 68. Frfefaa & & fra o o 2 3w TR ?
charge .
(@) Pgsitron Neutrino (a) THSfET (b) :@Th
(c) Electron (d) a-particle () oA (d) SATHI-HU
'@ Which one of the following pairs is NOT | 69. fr=fufea & & H-w1 & I™ & gafea
correctly matched ? e
o (Tirthankar) (Nirvan Place) (dfrefam) (Frato we)
(a) Rishabhanath - Ashtapad (a) I - ¥ANMQ
(b) Vasupujya — Sammedashikhar (b) IEYS - gl
(c) Neminath - Urjayanta (c) A - e
ﬁ Mahavira - Pavapuri & (d) HETER - gl
C -13-
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ki SMRNﬂ

HF AR WiF vwry
56. ‘SENSEX’is the popular Index of Bombay | 56. _ — (BS) )
Stock Exchange BSE). It is measured L GEdEd 2| frumd, 3

On the basis of how many blue chip Feafrat @ TEHT AT e @ ?
Companies listed in BSE ?

(b) 30
(@) 20 30 (a) 20
() 25 q(f; 10 (c) 25 ) 10

' G-7 :
S7. With reference to the G-7 Summit held | 57, I 2021 & SARTT G-7 gy
in .

Statements is/are correct P 1. garses fren 5@ Ry e ¥
' tUnitsed Kingdom wag the Chair of Aeqy o7 |
€ Summit, maﬁmaﬂ#mﬁﬁl@(
2. Brazi]l was invited to th Summit ag 2. ;

a guest country, ¢ # smifa fear man e | '
Select l;hle correct answer using the codes = feu mu %< 4 @l 3w 3
given below. .

Codes : % 3

Only 1 (b) Only 2 () I 2 (:) I 12 3

(¢) Both 1 ang 2 (d) Neither 1 noy 2 (c) 13 2 (d) :'a,

58. Which of the following Constitution | 58, ﬁﬂ%ﬁﬁﬁﬂ?—mmm ‘
Amqn_dment Acts made necessary Sfea. A, (Fg T A1 ) Py % 3

Provisions for the impleme i SIS TG T R 7
(Goods ang Service ’;I)‘a}{r?rgé?rggn?of'GST S af aaya arfufeg
2y 1075t Amendment Act ey 101 Iy 3rferfay

(b) 102nd Amendment Act (b) 10297 §

(c) 103rd Amendment Act () 103 a7 : e

(d) 104th Amendment Act (d) 104 & H¥iy

; llowing is the ma; : 4 Q FH-a1 wer.dt S, a5y
Constituent of Lpg ? ng1 € main | 59, fim ™ =

‘J:))-{ (b) Pentane (a) ¥R (b) ¥4
Butane & Methane () = (d) i
60. Which f the following jg known as | 60. frafufgs ¥ Rew Ty o ]
re Stage in the urbanization STTEYqT FET TR 7
(a; First stage (-b‘)/Second stage () S reen (b) foefrr araen -
(c * (d) Fourth stage (c) T armeen (d) =g arseen
bl. Tapa cloth is obtained from the plants | 61. frafofea & @ fora RIS DR 2197
~  of which one of the following family ? AT ST R 7 ' :
(a) Asclepiadaceae (b) Moraceae (a) Tfewretfud (b) witet
(c) Graminae (d) Malvaceae (c) Ifs (d) wreh 1
62. The functions of the State Public Service | 62. I YT & T wr LG ) ¥ F
Commission of Uttar Pradesh can be ﬁmtﬁw[mm%
extended by (a) TR FL| :
(@) Prime Minister ' h i, < R :
(b) Union Ministry of Per:sonnCI, Public (b) . T T e
Grievances and Pensions AT
(c) The President _ (c) Tsgufar gra
_Ad) Uttar Pradesh State Legislature (d) I wew faum wvew gr
C -12-

Coon



Nobi and Kanto plains are located i
at
which of the following countries ? i

(a) North Korea \ﬁ;:}outh Korea
China

(c) Japan

In which year the book ‘P

Unbritish Rule in India) was ;:‘gll;g c%ln’;l
(a) 1900 A.D. 1901 A.D.

(c) 1902 A.D. (d) 1903 A.D.

With reference to Socotra Island, which of
the following statement/s is/are correct P
1. It 1s an ISIQnd of Oman, situat .
the Arabian Sea. ed in
2, It was designated as a world natu
heritage site by UNESCO in 2008.r -

t the correct answer using the codes

ven below
Codes -
&) Only 1 (b) Only 2
() Both 1 and 2 (d) Neither 1 nor 2

‘Saras Ajeevika Mela — 2021’ was
in which of the following city ?

(a) Patna (b) Raipur

(c) Lucknow (d) Noida

In which one of the following cities
country’s first Indian Institute of Skills

was established ‘

5
(a) AhmedabadJ/ (b) Mumbai
(c) Rohtak (d) Kanpum./

3. JThe =
organised

55. Which one of the following is NOT
correctly matched ?

(Subject) (Related

Articles)
— Article 50

The separation of

judiciary from executive
(b) The promotion of

educational and

economic interests

of Scheduled Castes

and Scheduled Tribes

(c) The promotion o, .
Co-operative Societies

(d) The organisation (o

— Article 46

— Article 43A

— Article 40

function &
of self goverrlrl'lerl

SMRN-1 - 21

50. ﬁwmmﬁmmﬁmwwm
(a) IwT A (b) fdon wRrfr

(c) Y™ (d) =

aradl wug afufen & = wfosar’
forg ad srefir w8 7 v e
(a) 1900 g (b) 1901 %.

(c) 1902 %. (d) 1903 %.

A d ¥ gaf # frefefaa # 2 #-=1/3
FuT R B/E 7

1, T8 S 1 O A B < o7 e A e
2. T& 2008 # g gr faya g e

el ¥ w9 § Anfe for A )

1 g g e & T ST IA

T

(a) et 1 (b) ¥ 2

() 1 3w 2 At (d) AR 1A 2
e AT Jel — 20217 HAEH
Prfrfiaa & & fopa wet & fobmn T o 2
(@) T (b) TAYL

() TETH (@) e

e wed # 3 e T § 3w
Tl S eue e feRar T 7

(a) STETEEE (b) T=%

(c) Tgah (d) SFI

55. ﬁﬁﬁmﬁﬂm-mgﬂaﬁgﬁmwﬁ%?
(Rw) (Tt

IT)

(a) :mrfmamm Fg=9a 50

qUFROl
(b) T fera St asT BT 46
S5l

51.

92.

53.

54.

STl &
Qefores qun i
Rt & afgfe

(c)mw?ﬂ
FauA

P 3w e
ga:rsu’i%mﬁmréa:@
g T

I=8S 43A
=T 40

-11-

O



“The Clock is Ticking’ is the theme of
which of the following days ?

(a) International Yoga Day, 2021
(b) International Women's Day, 2021

l(};)"World Tuberculosis Day, 2021
(d) World Malaria Day, 2021

Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R) : -
Assertion (A) : The Mughal Empire was
originally a Military State.
Reason (R): The vitality of the development
of the Central Government System
depended on its military power.
Select the correct answer using the codes
given below.
Codes :
(a) Both (A) and (R) are true and (R) is
correct explanation of (A)
(b) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
\_(,e)/(A) is true, but (R) is false
(d) (A) is false, but (R) is true

47.

48. Which of the following words is NOT
mentioned in the Preamble of the

Constitution of India ?
(a) Sovereign (b) Democratic

(c) Secular {dfFederal

49. Consider the following Committees on
Panchayati Raj and arrange these in

chronological order :
I. Ashok Mehta Committee

II. L.M. Singhvi Committee
IIl. B.R. Mehta Committee
IV. G.K.V. Rao Committee

Select the correct answer from the codes
given below.

Codes :
U I 1, m, 1v

(b) 11, I, IV, II

()11, I, 111, IV

(d) 11, 1, 1v, 1

, 46.

47.

48.

49,

-10-

SMRN-1.

‘gﬁﬁﬂiﬁﬁﬁm' fraferflaa & &
offm 8 7
2 fﬁqq}qﬁaa, 20217
(b) fﬂqmﬁm,zozl
(d)ﬁgamms 2021
3 2 e R e &, o @ T 1 A,
m@}ﬁw(mﬁrﬂmi:
siftare () ; 1 S T Ty
g o7 |
wron (R) : i o e & w4
9 fow T e @ I HT T FIC |

E(A)aﬂt(maﬁwéaﬂum, (A) &
TE ST AT B

(b) (A) 3 (R) G 7= &, 5 (R), (A) &
HEt AT TEl AT 2

(c) (A) ¥ B, (R) et B

(d) (A) e B, T (R) o @

frafafas & @ #-a1 st ey Gfue

TS § Jeoifad AR R 7

(a) FEYET (b) SFaATRF

(c) vufdg (d) &g

e T W e wffedt w few i an

T8 FICHHATIAR Aafevrd it :

1. 37T Bgar afyfy

II. to. . fiueh aftfy

111, <ft. 3R, vear affy

v, sft.&.4. 9 afify

1 Ru ) e A werm & s w g

FHiferg |

C T4

(@I, I, 1, IV

(b) I, I, IV, II

(c) II, I, I, IV

(d) I, 11, 1V, 1




i 'tc ia
i loWlIlg Ramsar 81
Wthh of the fOl
NOI situated in Uttar PradCSh ?

a) Sur Sarovar 1
:b) Samaspur Bird Seﬂ:lcmal’y
(c) Sansai Nawar J © os
d) Surinszau‘—Man&’»ﬁlr
1. with reference to ‘NET - ZERO goal for
- e whi fthe following statements

2050, which ft)

is/are correc country will bring

1.1t mea_rtl;‘- ém"‘; ssions to 2€ro by 2050.
down 1 S Chat a country’s emissions

% It BOCAT om nsated by absorption
wﬁ(l1 t;: rﬁov f green house gases
%—r(l)rn the atmosPRere. . .1 e cod

Select the correct answer using the codes

given below

Codes : .

(a) Only

(c) Both 1and 2

h of the followu‘lg is NOT mosquito

) Only 2
(d) Neither 1 nor 2

. Which 0
borne dlsca?e% 3
a) Dengué &%
%cf Sleeping sickness

the following was NOT

&’ mon _

' ;zggciZted u%t;n the Kanpur Conspiracy
f 1924 ;4

Casi\igzaffar Ahmed Mahm Gupta

((2% Shaukat Usmani (d JA. Ansari

Filariasis
d) Malaria

ne of the following reflects back

44, Whicho
s compared to other

more sunlight a
three ?
(a) Sand Desert
(b) Paddy crop land

k¢f Land covered with fresh snow

(d) Prairie land

45. With reference to the ‘Capital formation’
which of the statements is/are correct ?
1. Process of capital formation depends
on savings and effectiveness of
financial institutions.
2. Investment is the essential factor of
capital formation.
Select the correct answer using the codes
given below.
Codes :
v(él&)/only 1 (b) Only 2
Both 1 and 2 (d) Neither 1 nor 2

C .9.

SMRN-1 - 21

40. Frerfrfan 3 @ o - e vere R # fRe

TR

(a) T HAT

(b) HHETR geht TR

(c) TTad == et

(d) ghtw-mrre wet

2050 & fag Y- T F Tl o

Prerffan # & #A-m/3 w1 ot 2/8 7

1. yae ifimma & s 39 1 2050 T I

2, g A § fr e 2n & e
= qraraw @ 1A #em gt @
e e raiveer & g |

#1 fau g 2 & T IR B =9I FNC |

(b) et 2
d)Fdm1a®2

41.

®e:

(a) a1

(c) 1 3t 2 2t
frafiRed # ¥ P-a1 U T aifka @ R ?
(a) ST (b) wrEfERE

(c) Pz T (d) wfE

i 3 ¥ 9 T 1924 ¥ FEY IS4 AW H
e @ o1 ?

(a) TIFR FEAE (b) Tl T

() Ma J@wEh  (d) W T e

Arafifed § @ | o dAl 6l gorn § S
g ) Aeeft waida F@r e 7
(a)i‘ﬂ?ﬁﬁ‘lﬁﬁ
(b) U Y Gt < oy
(C)Wﬂﬁﬁ@
(d) Dart yfiy (wrefieeon)
éﬁgﬁm’%mﬁm-m/ﬁwa@
/8 ?
1.@ﬁmﬁmaﬁaﬂtﬁ?ﬂu
Feenait 6 sty it w R
Z-ﬁa“@ﬁm*m@mﬁwﬁmﬁl
A3 R g g2 § T I H T

FT !
(a) Had (b) ¥ae 2
d @M 1I® 2
Y

42.

43.

44,

45.

(c) 1 3 2 3



Owing Articles of
nsu;urmn is related tq

Article 266
Article 268

( Places)

Spain
Aus tralig

North America
Austrig

€ign travelers
Of their arriyg) in

Pradesh
; Stabilisation

: ; which of the
followmg(s) Is/are correct ?

1. This Bij]] aims to bring the birth
rate down to 2.1 per thousands
Population by 2026.

<. At present, the fertility rate in the
aotate is 2.7 per thousand.

€I€Ct the correct answer using the codes

‘eibelow .

(b) Only 2
(d) Neither 1 nor 2

39 The winner of the women'’s single title at
the French Open Tennis Tournament,
/‘

2021, Barbora Krejcikova is from which
of the following cou nt
R4) Czech Republic (b) Serbia

(c) Croatia

12

- & E;;ilpri.l: 3

35.

36.

37.

38.

39.

SMRN-1

mﬂﬁﬂmmWﬁq~q k
e A A waRa gy
(8) FTBT 265  (b) TDT ¢4 |
(c) 3= 267 (d) 37T=8T 26g
Freterfeae 3 & - o g ) iy o
(afa ot (zam)
T AT ) .
(a)'c'}l'a'ﬂT = g
(b) rrfeat. - R
(c) = e = 3?&37%
(d) Ime - offfemn
Frafefen freh afdi & o HRd
FITHATIAR sTafeda hifrg ;
I. faform e
II. Te% fhy
III. | ufqg Q
ﬂ%ﬁqmw%uﬁmwwﬁm;
R +
@ILLIVENI (b) 1v, 11, &8
(c) I, 11, 11 @2 v (d) III, I1, IV qemy
‘mmmﬁm,f@ﬂwmaﬂx =

ﬁ%ﬁunﬂwﬁ@mﬁﬁﬁm

L T4

(a) e 1 (b) ¥aw 2

(c) 1 3k 2 & CIEEBES ®
$9 3 A =, 2021 H wfgen v
T # fard, EEIEG

i frmdnda sy

() 3% TRy (b) it
CEGE (d) &=



Which of the following 18 NOT the gJj ibilj
g}iltlgrion before filling r..egiatr.‘f:icanty
application forms for Uttgr Pradesﬁ
Mukhya Mantri Swarojgar Yojna 2021 7
(2) Age group from 18-40 years
Minimum high .school Pass certificate
Should not registered in any Central

Government or State Government
Swarojgar Yojna

(d) Citizen from any State of Indiq

(c)

. Given below are two statements, one g
labelled as Assertion (A) and other ag

Reason (R) :

Assertion (A) : Various components of

an ecosystem are not interdependent.

Reason (R) : Human activities haye the

impacts on the environment,

Select the correct answer using the codes
given below.

Codes :

(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(c) (A) is true, but (R) is false

Ad] (A) is false, but (R) is true

i1) Who among the following was NOT an
early member of the ‘Naujawan-Sabha’
formed in 1926 A.D. ?
(a) Bhagat Singh (b) Yaspal
I Chhabil Das (d) Ambika Chakravartj
@ In India the First Municipal Corporation
was set up in which one among the

following places ?
(a) Calcutta bPMadras g
‘_ZLQ)’ Bombay (d) Delhi

33. Which one of the following pairs is NOT
correctly matched ?

Vitamin-A - Orange
(b) Vitamin-C - Lemon
(c) Vitamin-D - Cod liver oil
(d) Vitamin—86 - Rice bran

}4. Largest saline water lake in India is
a}Chilka (b) Sambhar

(c) Lonar (d) Wullar

.

30.

R

31.

32.

33.

34.

8MRN-1 - 23

I 2021 % fay
LR

%awﬁqﬂ‘li,ﬁvﬁﬂwﬁm
wqﬁi“ﬁm(mwwi: w
M(A»:mmﬁmaﬁﬁmm
mﬁ@iﬁi“ﬁ*?ﬁ%l

:ma%maﬁﬁmmmwﬁa

MRS R R L SR

() 3 (R) 3 v § 3k (R), () 4

W ST e

) (4) 3 (R) 2ot w0 §, g ), ()
SATEAT TET e &

(¢) (A) ¥ 8, g (R) Tromar 2

(d) (A) 7o 8, R (R) ger 2

(a)

Frafofes o & 1926 3. ¥ Tfem “Nemm-gur
w1 RO Jewr w9 i ar

(a) wTa R (b) T

(c) Bt g (d) T e
ﬁnﬁﬁ%qmwtmﬂmwﬁm
T foma ma o 2

(a) BT (b) HsTE

(c) s (@) fegh

Freferied % & BH-w gw od e @ L 2
(a) Fafm-A - @

(b) feaftm-C - Hig

(c) feafim-D - IS WO 1 A
(d) frrfm-B, - UH &1 W
s § @R e o T e

(a) Faeem (b) EIR

(c) TR (d) Feom




e
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v
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With reference to Mekong river, which of the

following statement/s is/are correct

1. Mckong rises in Tibetan Plateau

2. Mekong delta is situated in
Southern Cambodia.

Select the correct answer using thec

given below.

Codes :

(a) 1 only

(b) 2 only

(c) Both 1 and 2+

(d) Neither 1 nor 2

odes

Which one of the following is NOT

25.
correctly matched ?
(Provisions) (Sources)
(a) Fundamental Rights - USA
(b) Directive Principles of
State Policy - Ireland
Residual Powers of
Center — Australia
- Germany

(d) Emergency powers

26. The concept of ‘carbon credit’ originated

from
{a) Earth Summit, Rio-de-Janeiro
(b) Kyoto protocol

(c) Montreal protocol

(d) G - 8 Summit, Heiligendam

As per SDG India Index and Dashboard
2020-21 published by the NITI Aayog,
which one of the following States was
NOT among the top five States in their
performance regarding SDGs in the

27.

country ?
Gujarat v-(f!)/ Andhra Pradesh
(c) Goa (d) Tamil Nadu

@ Zzero Hour’ in the working of the Indian
Parliament means

(a) The first hour of the Session

(b) When privilege motion are accepted
(c) Hour before question hour

JA{ The time immediately following the

question hour

25.

26. °

27.

28.

b

H-ar 757 @A, wEd I v
&w%sﬁﬁﬁauaﬁﬁqf&r%mﬁm?
(a) ORI (b) IY WA
(c) T (d) afeTg

wTea wae H FrraTe § ‘Y e @ o7l ¥
(@) T T TIH G
(b) = farfeTiirR weaTe wied BT & 'q
(c) T I % qd 1 T

(d) Wmiﬁaﬁﬂimmm




owing Institution /Office
Wwhich of tthe wholesale Price Index (WPI)

e Reserve pank of India
(2) i

he Ministry of Commerce and
€
industsy Finance
inistry of Fin
o) The M1

‘ot of Consumer Affairs,
@) ”lr:‘hcg'“;ghs%blic Distribution
00

X

5\ Rotulism 1 _

p‘ood’borne infection
i fo0 d-borne intoxication

(©) water-borne infection
M ater-borne intoxication

L f Culture, Government of India

19. Mxmst?tf %f Azadi ka Amrit Mahotsav
as pgrated the birth anniversary of
cele +d Ram Prasad Bismil in June,
Sgg‘{ -t which one of the following places
?n Uttar pradesh ?

(@) Chauri Chaura (b) Shal_'ljahanpur

0. Which of the following is indicator of air

pollution ?
JA Lichen (d) Moss

Which of the following pair is NOT
correctly matched ?
(Place)

(Tribe)
a) Alaska - Koryak
(b) Borneo - Punan
(c) Arab Desert - Ruwala
(d) Sweden and Finland

- Lapps

@ Riboflavin deficiency causes which of the
é following diseases ?

(a) Pellagra (b) Scurvy
(c) Beri Beri (d) Cheilosis

@ 'World Ozone Day’ is celebrated on
(a) 25" December  (b) 215 April

) 16t September  (d) 30t January

18.

19,

20.

21.

22.

23.

(d)mm,m i

wgferem &

(e) ATl A B aen sz
(b) -l ¥ B3 avem Faremes
(c) e -aF= Tram

(d) S -9Fm e

mr TR % T e X 3

F T 3 F w0 i 2'02:2:3@
T e fafere A i 3 e # P
% R e v W '

(a) <8 < (b) TR

(c) T (d) sfemn

Freafira 3 3 H-m a1 vow = g R 7

(a) TRSTEH (b) St

(c) TTEHA (d) =™

P 3 e g v g i R 2
(vam) (SR

(a) HTEH - SR

(b) <R - T

(c) INE WEEAHA - TR
(d) =ie 7 feeios - @

TRRIRIRA 1w A B § ¥ F-mam
A ?

(a) SEm (b) Tl

(c) ¥ =8 (d) &t

Ty A feme’ TR S R

(@) 25 R@=R R (b) 21 3w

(© 16R@= | (d) 30 FEHH




11, Who

ol originally Propounded the theory of

“C Stages of socig] clevelopment 7

X (b) Talcott Parsong
¥ Herbery Sp (d) Auguste Comte

—_—

+ Atmanirbhgy g
Vikag Yojna

- Mukhyq Mantri Saksham Suposhan
Yojna

1. Mukhy, Mantrj Pravasij Shramik
Udhyarnita Vikag Yojna

IV. Yuya Udhyamita Vikas Abhiyan

S_elcct the Correct

given bep, " answer from the codes

Codes .

(@) L, 11 and [I]
~X€] L, Il ang 1v

rishak Samanvit

(b) 11, 11T ang v

(d) L, Il and v
A Clove re

\ Presents tq which of the
followmg?
() Terminal bud

(b) Accessory bud
lower bud

(d) Vegetative bud
14. Which one of the following iIsNOT a major
COCO producer Country ?
Latvia
(b) Cameroon
(c) Ghana

(d) Ivory Coast

15. The blood glucos
expressed as
a) MM of Hg
(b) Milligram per decilitre
(c) Parts per million
(d) Gram per litre

€ level is commonly

16. ‘Blue baby syndrome’ is due to the

presence of which of the
blood ?

(a) Haemoglobin
(b) Methemoglobin
) Lead
(d) Nitrate

following in the

SMRN-]
1memmmﬁmmmMm

foher wferarfe a7y "

(a) et TRl (b) eTeTeHTE

(c) B e (d) 3T ey

1zhﬁ%ﬁmmmﬁmi

13.

14,

15.

16.

I Ty
2021 -22 %yl fr g @ 5
meﬁwmﬁﬁ%mﬁm
L. Feeisft wemr gevor o

ML TRt sraeft s serirry frepre <
IV. 391 Suftr forrm arfiry

‘WmﬁﬁﬂWmemﬁw
%e:

(@) I, Il wg 11 (b) II, IIl W& v
(©) I, Iug v (d I, mus v
Fﬁnﬁwmaﬁﬁf%mﬁw% ?
(a) 37Ty weh (b) HEES Hel
(c) B et (d) Feafy weft
ﬁw%faaﬁﬁﬁw-m@aﬁaﬁmmm
o R

(a) Frefery

(b) e

(c) °mT

(d) 35l s
mﬁmwwmmuaﬁh%m
T #

(a)@qqaﬁtﬁHga-‘aF\‘Iﬁ

(b) Preftoa of Shiferee 3 v
(c}qﬁqwﬁﬁﬁﬂ?%mﬁ
(d) 7 yf frex % =g

W H e 3§ 3 Rt sofm 3 o
o ¥t R B @ 2

(a) T

(b) Yediredfem

(c) TS

(d) e




&

9.

10.

Under the Constitution 0

“Aa) To vote in General B|e

At the time of second

) 1IT, Madras

&eported about Satyagraha at Dh
S

] (A) is false, but (R) is true

of the following is NOT 4
Duty ?
ction
(b) To develop the SCi?ﬁliﬁc temper
(c) To safeguard public P"Openy
(d) To Hbide- by. the Conatitution angd
respect its ideas

.o Wave of
COVID-19 Pandemic, which i

N instj
demonstrated the conversion of Liltt:!()li‘;,?:(:l
generator into oxygen generatoy 5 o
(a) 11Sc, Bengaluru
(b) IIT, Bombay

(d) 1T, Kanpur

The name of the foreign journaligt Whe

arsang

(b) Mark Ty
(d) Philip Sprat

alt works was .
(a) Francis Louis
(c) Web Miller

Given below are two statement
labelled as Assertion (A)
Reason (R) :

Assertion (A) : The Council of Ministers
in India is collectlve_ly responsible to both
Lok Sabha and Rajya Sabha_

Reason (R) : Members of b

and Rajya Sabha are elig

Ministers in Union Gove

Select the correct answer

given below.

Codes : :

(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A

(©) (A) is true, but (R) is false

S, one ig
and other as

oth Lok Sabhga

ible to become
rmment.

using the codes

Foreign Minister of a country, Anthony
Blinken had visit

ed two days to India for
strengthening co-operation on July 27
and 28 in 2021

. He belongs to which of
the following countries ?
(@) United Kingdom &~

(b) United States of America
(c) France

(d) Australia

(b) 3083118 5

10.

e,
(©) Mo |

1 T
ﬁ‘?‘“ﬁ‘ﬁlﬁﬁm

TR W T IN = B |

(Alafﬂ(R)ﬁm%ﬁmR),(A)ﬁq-@

ST T &

(b) (A) 3N (R) 3 wew %, 1 R), @) H
e SarE T e R

(c) (A) & 8, By (R) o 2

(d) (A) 7o R, fFg (R) W R

27 W 28 , 2021 F TH T F Ry
iﬁ%ﬁm%mmﬁm
F0 % Ty 6 @ el T © | -
Frfafea § 3 fre 3w R s=fRm 2 g

(2) FTses Tomen

(b) TgF T=" IR

(c) T

(d) e

=

®e
(@)



it o i

Wit‘h reference tq NTPC v
Which of the
Correct »

L1t ig situated in Nop
l_lhattisgarh State,

. it at Singrauli
following smtement/s is/aré

thern part of

(b) Only 2

of the following causes jg
€ for rainfal)l during Wintersg

“Western part of India ?
(a) Retreating Monsoon

(b) Cyclonjc depression
+AE) Western disturbances
(d) South-wegt Monsoon

(a) 4 (b) 6
8 10
S. With reference to the g ecial
of 1the resident of Ir;diap \?flhlcﬁd(?fr?ﬁ:

the house of the people and at the
commencement of the first session
of each year.

2. The President in his address informs
the Parliament of the causes of its
summons.

Select the correct answer using the codes

given below.

Codes :

—4) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2
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